hat 1# c]nsmg error? Explain Ihe: and.ltch Method of adjustlng th.t,

5&: &u: fbllumng traverse PQRST the length and the: heanng of side TE8
: um:tl:ed. Calculate the length and bearing of line TP,

Line Length(m) - 'WCB
. PQ 204 8730
for 226 20°20"
RS 187 280°00"
ST 192 210°03"
T ? s
clCalculate latitudes, departure and closing error for the following 9 3 Icoz
fraverse conducted at a place. . i
: Line Length(m) WCB
AB 89.31 45°10" l
BC 219.76 T2°G5
|cp 151.18 16i°52'
DE 159.10 28°43'
EA 5 232.26 300°42'
| OR
aIExplgin closed and open traverse with neat sketches. '3 L2 (CO2
blExplﬁn Latitude and Departure in traverse surveving, e L2 €02
cEmd out the missing figures and compute the level book page. Appiy usual {10 1.3 N
check,
SLNo. | BS R o RL Remarks |
1 4,390 ' Xk X Point 1
2 s X 192,000 © |Point2 L
3 3910 B0, Xl % Point3 |
4 5.390 91620 [BM |
5 4.730 |x Point4 |
6 X 1203300 [Point 5 (staff
: inverted)
4,330 X X Point 6
8 2.990 1194830 [Point7_
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730, 4.685, 0.625, 2.005, 3.110, 4.485.
f first point is ﬂDﬂ\.lZﬁm-Eiitﬁ' the abeve readings in a levels
and work out (e RL's -y risc and fali method. And find the

Ilnjw_ing reciprocal levels were taken with one level:

W pomtsA and B, 1530m apart are sapamtc._i by a wide river. The |8

~ Staff rezdings at
bl A B
----- A Ty L SR
B 0.910 | 2355

[The collimution errc: was -0.004m per 100m. Calculate the true level
differcace between . and B and the refraction.

lain reciprocal Ieveiiing. 3 2
i s W 5 . i {
g I?“'._ e 3 DFL .
plain the temporz:y adjustment of Dumpy level, 7 L2 Jco3.
ints A 3 [cos

[+

finstrument. The sstriment was shifted after 5" and 11" readings.
“« raw a page of level »ook and determine the R.L of various points by
| [H.I method if the R.L oi the 1* point was 264.350m.

.435., IR f8 T05.395, 3.875, 0.360, 1.305, 1.785, 2.675, 3.385,

The following staff r-adings were observed successively with levellinz

|| B.885, 1.835,0.435 and 1.705.

cO3

e L

oL
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